A/NZH Ar'P. OIKONOMIAZ &
KTHNIATPIKHZ NE EBPOY

TMHMA TONOIPA®IAZ EMOIKIZMOY
& ANAAAZMOY

TOMOIPA®IKO AIATPAMMA
TEMAXIOY MPOZ EKMIZOQZH 2TO
ArPOKTHMA:ZIAHPQ

KAIMAKA: 1/ 1500

E1= 1y 1281 d1a6= 1600 T.p.
E2=1p 1282 5106 = 4683 1.4.

MINAKAZ ZYNTETATMENQN

TON KOPY®QN TOY

ala X Y ATTO0TAOEIG
A 681009.46| 4565398.66
B 681192.26 4565499.10 A - B:208.58
r 681211.09| 4565475.21 B-I:30.41
A 681028.03| 4565374.63 - A:208.88
E 681013.98 456539047 A-E:21.18
Z 681009.46| 4565398.66 E-Z:9.35

EuBadov Tepayiou = 6283.43 1.4.

AAEZ/NMOAH 2/ 12 /2018
O ZYNTAZAZ

XATZHOIAINMIAHZ X TAYPOX
TOMNOrPA®OZ MHXANIKOZ




